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����'*����	&!+'*���,$-����')�('.	������/	��10(�����324���*5
6 ���7$��*����	������80�')�8�9�:��$����<;=�*�>$-	��?��!<�*;�	����:�������������1')�
H∞
0@�*�4	������9�������������,54AB	DC���E���$F����0���$�$�'*��!
'*���G$���HI�

0@�����4	70��*������	����*�?$J;=�*�:����0�')������	����
')���K	&!L�);9	����M������0@�1$�$
	��?'.	N��$O���)	:'*$�$-���P�1�Q	��8�?�R���P'8$��I'*����E"�30@������	&!Q�);?	����
�*����C*���S5

T 5RU7VDW%XRYSZ7[]\ 6J^N6 Z7[_Z7` 6
aPbdc7e�f�g�fdh.eji�k�^ �
'*��������C

G : L2(0,∞) → L2(0,∞)�3$l0�'*�������m0�'*��$�'*�,�K;n;=�*�l'*�"!o;=����0@	����*��$
x1, x2 ∈

L2(0,∞)
'*���G'*�"!

t > 0
��	R;=�*�����.pD$F;=���*�o	����Q0@���������

	����*�
x1(s) = x2(s)

')���I��$-	O��E*����!"pM�������F�*�
s ∈ (0, t)	��?'.	

(G(x1))(s) = (G(x2))(s)
')���I��$-	
��E*����!"pM�������

�*�
s ∈ (0, t)

5

6 ���+0��*�4	����*�:$�!�$&	����q��$#����$�0@�����9���r�"!j	����/�124��'.	������
���sC���������'*�������1�
;=���?0t	����*�?$

ẋ = Ax+ Bu+ Cv + f,pM�������
u∈L2

nu
(0,∞) u v∈L2

nv
(0,∞)

5 6 ���F;=����0t	������
f�3$D���_	����#$-��'�0@�

(W 2
1,nx

(0,∞))∗
	���')	<�3$M	����L'*�wv&�����4	

$���'*0��N	���	����RxD�����9����	N$-��'�0@�:�*;?\"�*�9�*����E
W 2

1,nx
(0,∞)

56 ���y�*�9���('.	��*�($ A u B ')�?� C ;=���*� L2(0,∞)
	��

L2(0,∞)
')���,0�')�?$�'*� u �?���������1�z'*���z�@{��?�������4	���'*����!���10@����'*$�����C�5�`��+�*	�����������$-	�����0@	����*��$<')���Q'*$�$-���I�1�,;=�*�

	�����$��
�*�9���('.	�����$�5
6 ���_������	��3')��0��*������	����*�?$I�);%	����|$�!�$&	����}'*���_����~������
�"!�	����z;=����0t	������

f ∈ (W 2
1 (s,∞))∗

5 6 ����$��@	��*;
')���%������	��3')�
0��*������	����*�?$G')	+	����j����$-	�')�4	

s
��$,����~������

'*$ Z = (W 2
1 (s,∞))∗

5 6 ���,$-��	#�*;�')����$��*����	����*�?$L�*;
	����%$�!�$&	�������24��')	����*�+');�	����F	����<����$-	�')�4	

s
pM�K	��/~�{����

f ∈W 2
1 (s,∞)

')���
v = 0

�3$M�������)	��1�s�4!

Ms(f) = {(x, u) ∈ L2(s,∞) | ẋ = Ax+ Bu+ f}.
aPbdc7e�f�g�fdh.e|�"k�^ �+'*���I�3$�$���������;=���1����'*0(�I$-	��('.	���C*!#;=�*�
u
�3$Q����~������n'�$
',�I'*��������C

S : L2
nx

(0,∞) × Z →
L2
nu

(0,∞)
$���0(�
	���'.	

S(·, Z)
�3$R0�')�?$�'*� u ')���I;=����'*�"!

s ≥ 0
')���s')�"!
;=����0t	������

v ∈ L2
nv

(s,∞)
	����Q$-!�$-	����

��24��')	����*�jpM�K	���	����I������	��3')�N��')	�'
Z
'.	8	����I����$-	�')�4	

s��'�$#'j�����324���s$��*����	������
(x(·), u(·)) ∈ L2(s,∞)

;=�*�
pM���30(�

u = S(x, Z)
5

6 ����$��@	��*;I'*���#'*���I�3$�$��������n;=��������'�0(��$-	��('.	���C*����$,�3$
�������)	����n�"! S 5�`D�*	��
	���'.	#	����1$-�G$&	���')	���C����1$
0�'*���?��������������1')�8')���|	����P����E.'*��!"����C�5��J�K{j'G24��'*���('.	���0P0@�4$&	
;=����0@	����*�
Fs =

∫ ∞

s

(x(t)∗Q0x(t) + |u(t)|2 − λ|v(t)|2) dt.

�%�(�t����� g�fdh.eji�kL� UJ�4$-��	���E*�r���@~?���K	������1$�$s�*;
	�����0@�4$&	
;=����0@	����*�S5�� 6 �������
��{���$-	�$D'I�"���#�?���

ε > 0
$���0(�s	��?'.	

;=�*�D'*�"!
(x, u) ∈ M0(0)

��	D���*�3��$
F0(x(·), u(·), 0) ≥ ε(‖x‖2

L2(0,∞) + ‖u‖2
L2(0,∞)).

�%�(�t���D� g�fdh)e|�4k#� [_�������
')�*$-	�'*��������	&!<0@��������	����*�I� ���*�I��� ub@gF�)��k u���������� 5�� 6 �������<�@{���$-	�$R'L��������'*�F�9�*���������+�*�9�����'.	����
Sstable

pM����0(���3$L'*��'*���I�3$�$��������
;=�������?'*0(�j'*���
$-��0(� 	��?'.	�	�����0@����$���� ���"����$�!�$&	������3$n������;=�*���I��!
�@{��?�������4	���'*����!+$-	�')������5

� 5RU7VMA&`% FA¡UFYSZ�W%�¢[ ^D£ A&[�¤�[
6 ���/�
'.{����P����0@����	������:�����*�������¥0@����	(')����$8	&p��|0@�����
$-�10@��	���E��lYJ¦§�����*�������
$�5 6 ���l���������zYJ¦§�����*�������
$-�����
$�	��I�9�8$-	�'*����'*���+����	M	����8$��*����	������G�3$R���)	M�1'*$�!
;=�*�n	����¨C���������'*�I�*�9���('.	�����$r���

L2 5 6 ���©����$�����	�����C�*�9���('.	����F�3$R�����.E*�1�I	��I�9�80��*�4	����"���*�?$F���G	����Q'*�������)�
�����3'.	��7���������*;�	����M���?')�"$-��'�0@�F	���	����D\"���?������E8$���'�0@�
W 2

1

5
ª9«�b(h.¬�b � i*k Y>�@	 ^ $�$����I��	����*��$ � '*��� T ��������5 6 �����;=�*�8')�"!

s ≥ 0
')���j')�"!s;=����0t	������

f ∈ (W 2
1 (s,∞))∗	��������r�@{��3$&	($G'z�����324���j������0@�1$�$

(x0, u0)
����pM���30(�

	����80@�4$&	F;=����0t	������ Fs(x, u, 0)
�3$��P�������
')���*�
	����8$-��	

Ms(f)
5

[_�*�����.E���� u 	����Q�
')��������C (x0(·), u0(·)) = Ts(f)
��$�'

��������'*�F���?����')	�����54AB	��3$R�9�*���������/�����K;=�����I��!I;=�*�
s ≥ 0���s	����
���*���
$

(W 2
1 (s,∞))∗ → L2(s,∞)

5

6 ���L����	����D�
'.{����I����')	����*�_�����*�������m�3$�$��*��E*���,���_	����
���@{"	 6 �����������,5 6 ���
')��	����*�($8���,���)	
�"���.p­',$��*�����
	����*�
	���'.	N���"��$����)	J����;=����	���	����R')��$-	��('*0@	>�������?0@�������F�);
�I'){����#���y�����1$-���4	����L���G� [�'.	�E�����E%'*���
®7'*�4���?�.E"�30(� u
���*�*¯)� 5 ^ 0�0��*�(������Cn	���	��������@{"	 6 �����*�����°')�"!¨$-	�')�	����*��'*��!_�9�*���4	Q�);7	����/Y>'*C*�(')��C��
;=����0@	����*�n�3$
�����.E*���
	��%�����.E"�3���7'%$-������	����*�
	���	����R�I'){����I���L0@����	����������������
�����s5
���*�D'*�"!

s ≥ 0
����~����

Λs = inf{λ | sup
v∈L2(s,∞)

inf
(x,u)∈Ms(Cv)

Fs <∞}.

ª9«�b(h.¬�b � �4k Y>�@	
s≥0 u f∈(W 2

1 (s,∞))∗
'*���

λ>Λs
5

\"�����9��$�� ^ $�$����I��	�������$ � '*��� T ���*�3��5 6 ������	���������@{���$-	�'M������24���F2��?'*�����������
(x0, u0, v0, ψ0)

���
	����7$��@	($
(x, u, v) ∈ L2(s,∞) u ψ ∈ W 2

1 (s,∞)
pM���30(���3$s'

$&	('.	����*�?')��!
�?�����4	D�);�	����QY�')C���'*��C*��;=����0t	������

Ls(x, u, v, ψ) =

∫ ∞

s

[F (x(t), u(t), v(t))

−2ψ∗(t)(ẋ(t)−Ax(t)−Bu(t)−Cv(t)−f(t))]dt

')���©$�'.	���$-~���$/	����r0@��������	����*�
(x, u) ∈ Ms(Cv+f)

5
[_�*�����.E���� u 	����F;=����0t	������ v0 ')���Q	����R������0@�1$�$ (x0, u0)$-����E���	����
�
'.{����I���_0@�*�4	������9�������������

max
v∈L2(s,∞)

min
(x,u)∈Ms(Cv+f)

Fs,
	����F;=����0@	����*�

ψ0 ��$�	��������?')�"E.')����'*�����F���L	����R�����*��������);>���������M�P�������I���1'.	����*�G�"!
(x, u)

pM��	��G~�{����
v = v0 u')���L	����R�
')��������C

Ps : f → (x0, u0, v0, ψ0)
�3$O��������'*�

')����0@���4	����4���*��$
����	����|���*���
$
f ∈ (W 2

1 (0,∞))∗ u
(x0, u0, v0) ∈ L2(s,∞) u ψ0 ∈ W 2

1 (s,∞)
5 6 ���



±�²�³�´
µF²)¶S·�¸�¹<²�º?¹�³�»)·�²�³�µ Ps »)³�¹�¼9²*½�±�¾�¹�¾/½�±�¿K¶=²�³�´IÀ�Á¶=²*³ s ≥ 0 Â
Ã ÂRÄRÅ%Æ"Ç�È�É<Ê7Ë7ÌDÅNÍ�É%Ì�Æ

Î ²�À�À�².ÏM¿�±�Ð­·�¸�¹�¼9¹�¸�»wÑ"¿�²*³(»)À,»)º�º�³�²�»�Ò(¸Ó²)¶nÔ©¿�À�À�¹�´
µÕ�Ö�×*×�Ö@Ø ¿�±4·�³�²"¾�½�Ò@¹J·�¸�¹7µ&·(».·�¹NÑw»*³�¿3»)¼�À�¹ X = col(x, u, v) Ù·�¸�¹­´
».·�³�¿�Ú Q = diag{Q0, Inu
,−λInv

} ²*¶�·�¸�¹Û4½�»*¾�³�»)·�¿3Òy¶=²*³�´Ü»*±�¾Ý·�¸�¹­º�À3»)±4·Þ²*º9¹�³(».·�²�³ R =
(∂/∂t−A,−B,−C) Â
Ç ·8¶=²*À�À�².ÏDµ<¶=³�²*´ Í ¸�¹�²*³�¹�´àß/·�¸?».·8·�¸�¹
²�º�·�¿�´
»)ÀOº�³�²)áÒ@¹1µ�µ�¿�±|·�¸�¹#´I»)Ú�¿�´I¿�±�Ò@²�±�·�³�²�ÀSº�³�²*¼�À�¹�´Ýµ�».·�¿3µ-â�¹�µD·�¸�¹
µ-·�»)±?¾�»)³(¾+µ�¹@·D²*¶>·�¸�¹
²*º�·�¿�´
»)À�¿�·&Á+Ò@²�±�¾�¿�·�¿�²*±�µM»*±�¾G·�¸�¹
º�À3»)±4·M¹�Û4½�»)·�¿�²*±

QX(t) =R∗ψ(t),

RX(t) = f(t).

Í ¸�¿3µ7µ�¹@·7²*¶�¹�Û4½�».·�¿�²�±�µ:Ò�»)±
¼9¹<¾�¹�³�¿�Ñ*¹1¾P»*À�µ�²8¶=³�²*´ ·�¸�¹µ-·�»)±?¾�»)³(¾ Ê ²*±4·�³�Á4»)Ð*¿�±�º�³�¿�±�Ò@¿�º�À�¹n²)¶I´I»)Ú�¿�´#½�´ ÂMÇ ·�µÐ*¹�±�¹�³(»)À�¿�ã�».·�¿�²�± Ù ·�¸�¹M»)¼?µ&·�³�»�Òt·Oº�³�¿�±�Ò�¿�º�À�¹R²)¶9´I»)Ú�¿�´#½�´Õ ä ».·�Ñ*¹�¹�Ñ
»)±�¾Iå7»*æ"½�¼?².Ñ"¿3Ò(¸ Ù Ö�×*× Ã Ø Ï�»�µ:½�µ�¹�¾/¶=²*³F·�¸�¹º�³�²"²)¶R·�¸�»)·L·�¸�¹G»�¾wç&²*¿�±4·LÑ.»)³�¿�»*¼�À�¹ ψ ¼?¹�À�²�±�Ð�µQ·�²�·�¸�¹µ�º�»*Ò�¹ L2(s,∞) Â�Í ¸�¿�µGÒ@²*±?¾�¿K·�¿�²�±©¿�µ+¿�´Iº9²*³�·�»*±�·+¶=²*³µ�²*À�½�·�¿�²*±/²*¶S·�¸�¹8Ò�²*³�³�¹1µ-º9²*±?¾�¿�±�ÐQ´I¿�±�¿�´
».Ú/Ð4»)´I¹D·�¸�».·
¿3µDÏ�¹�À�ÀSæ"±�².ÏM±_»*µR·�¸�¹ H∞ Ò@²�±4·�³�²*À�º�³�²*¼�À�¹�´è¶=²*³D·�¸�¹·�¿�´I¹@áBÑ.»)³�Á4¿�±�ÐI¾�¹�À3»wÁ*¹1¾Gµ�Á�µ&·�¹�´
µ Â
Í ¸�¹
²�º�·�¿�´
»)À�¿K·&Á|¹1Û4½�».·�¿�²�±�µ
»)³�¹P·�¸�¹/µ�»)´I¹
»*µ8¿�±r·�¸�¹À�¿�±�¹1»)³%¶=½�±�Ò@·�¿�²*±�»*ÀO¹�Û4½�».·�¿�²�±|·�¸�».·8¿�µ%¼�»�µ-¿3Ò#¿�±j·�¸�¹ Φ á»)º�º�³�²4»*Ò(¸s·�²+·�¸�¹ H∞ Ò�²*±4·�³�²*À�º�³�²�¼�À�¹�´ Â?Í ¸�¹�³�¹�¶=²*³�¹ Ù»
Ð�¹�±�¹�³�»*À�¿�ã�»)·�¿�²*±,²)¶O·�¸�¹#¾�¿�³�¹1Òt·8»)º�º�³�²�»�Ò(¸s·�²
·�¸�¹L¿�±�á
â�±�¿�·�¹Q¾�¿�´I¹�±?µ-¿�²*±�»*À�Ð�»*´P¹8º�³�²*¼�À�¹�´éÒ�»*±G¼9¹
²*¼�·(»)¿�±�¹�¾
¶=³�²*´ê·�¸�¹r¹�Û4½�»)·�¿�²*±�µ+·�¸?».·,À�¹1»*¾�µ+·�²z·�¸�¹r±"½�´I¹�³�¿�Ò�»)À
»)À�Ð*²�³�¿�·�¸�´IµRµ�¿�´I¿�À�»*³R·�² Õ Å ¶d»)±?»*µ�µ-¿�¹�Ñ.»_ë@ìRí.î Ù ß)ï�ï Ö@Ø Â
Í ¸�¹�²*º9¹�³(».·�²*³(µ f → (x, u, v, ψ) »)³�¹7º�³�².Ñ*¹1¾%·�²%¼?¹�¿�±�á·�¹�Ð*³(»)À Â*ð ¹�±�²*·�¹R·�¸�¹�³�¹Dæ*¹�³�±�¹�À�µO¼"Á Ks(t, r) Â4Í ¸�¹�Á#Ò�»)±¼9¹
¹@Ú�º�À�¿�Ò�¿K·�À�Á�·�³(»)±�µ-¶=²*³�´I¹�¾�·�²,·�¸�¹
æ*¹�³�±�¹�ÀO¶=½�±�Òt·�¿�²�±�µ
¶=³�²*´o·�¸�¹8¶=²*À�À�².ÏM¿�±�Ð Í ¸�¹�²*³�¹�´ Â
ñ�ò ë(ó.ô�ë@õ÷ö�ø Í ¸�¹�³�¹%¹@Ú�¿�µ-·�µ�»)±G¿�±4·�¹�Ð*³(»)À9²*º9¹�³(».·�²*³(µ K Ù
Kf(t) =

∫ ∞

0
K(t, r)f(r) dr Ù ¶=³�²*´ L2

nu+nv
(0,∞)·�² L2

nx+nu+nv
(0,∞) Ù »)±�¾ Kψ : f → ψ ¶=³�²�´

L2
nx

(0,∞) ·�² L2
nx

(0,∞) ÏM¿K·�¸<·�¸�¹:æ�¹�³�±�¹�À Kψ(t, r) =
col(Kψ

u (t, r),Kψ
v (t, r)) µ�½�Ò(¸+·�¸�».·Ö Â�Í ¸�¹
²*º9¹�³(».·�²�³�µ K »*±�¾ Kψ »*³�¹8¼9²*½�±�¾�¹�¾ Â

ß ÂSÍ ¸�¹
²*º9¹�³(».·�²�³ K ¿3µ
Ò�»)½?µ�»*À Ù ·�¸?».·Q¿3µ Ù K(t, r) = 0¶=²*³ t < r Âù Â Î ²*³�»*À�´I²�µ-·�»)À�À (t, r) ∈ (0,∞) × (0,∞) ·�¸�¹²*º�·�¿�´I»*À�¿�·&Á+Ò�²*±�¾�¿�·�¿�²*±?µR¸�²*À3¾
QK(t, r) = R∗Kψ(t, r)ÏM¸�¹�³�¹
·�¸�¹P²*º9¹�³(».·�²�³ R∗ ¿�µ%»)º�º�À�¿�¹�¾,·�²
·�¸�¹L¶=½�±?Òt·�¿�²*±²)¶ t ½�±�¾�¹�³Dâ�Ú�¹�¾ r ÂÃ Â Î ²*³Q»*À�´I²�µ-·Q»)À�À r ≥ 0 ·�¸�¹
º�À3»)±4·
¹�Û4½�».·�¿�²�±j¸�²*À3¾�µ¶=²*³R·�¸�¹
Ð*¹�±�¹�³(»)À�¿�ã�¹�¾/¶=½�±�Ò@·�¿�²*±�µM²*¶ t

RK(t, r) = (B, C)δ(t− r).

Í ¸�¹D²*º�·�¿�´I»*À�¿�·&ÁIÒ@²*±?¾�¿K·�¿�²�±�µ7»*±�¾Iº�À3»)±4·7¹1Û�½?».·�¿�²*±
Ò�»)±¼?¹QÏM³�¿�·-·�¹�±,¿�±,·�¸�¹
²*º9¹�³(».·�²*³R¶=²*³�´,ú QK = (R∗Kψ)+»)±�¾ RK = (B, C) ÏM¸�¹�³�¹<·�¸�¹%²�º?¹�³�»)·�¿�²*± (·)+ ´I¹�»)±?µ·�»)æ"¿�±�ÐP·�¸�¹QÒ�»)½�µ�»)À�º�»*³-·M²*¶�·�¸�¹
²*º9¹�³(».·�²*³ Âû ¹@· nuv = nu + nv
»)±�¾ Euv

¼?¹l·�¸�¹l¿3¾�¹�±�·�¿K·&Á
²*º9¹�³(».·�²�³¢¿�±é·�¸�¹�µ-º?»*Ò@¹ L2

nuv
(0,∞) Â
ð ¹�±�²*·�¹Þ·�¸�¹¾�¿�´I¹�±�µ-¿�²*±�²*¶<·�¸�¹|´
»)±�¿�¶=¹�µ-·+Ñ.»)³�¿3»)¼�À�¹ X ¼"Á nX =

nx+nu+nv Â4Í ¸�¹D¼�»�µ-¿3ÒR²*º9¹�³(».·�²*³O¶=³�²*´ L2
nuv

(0,∞)·�² L2
nX

(0,∞) ¿3µD¾�¹�â�±�¹1¾s»�µ
Φ =

(
0
Euv

)
+ K.

Í ¸�¹+´
».·�³�¿�Ú�²)¶M·�¸�¹GÛ4½�»�¾�³�»)·�¿3ÒI¶=²*³�´ X∗QX ½�±�¾�¹�³
x = 0 ¿3µ J = diag{Inu

,−λInv
} Â�Í ¸�¹F±�¹@Ú"·J»�µ�µ�¹�³�·�¿�²*±¿�µJÒ@³�½�Ò@¿3»)À)¶=²*³�·�¸�¹F¿�´
»)Ð�¹N³�¹�º�³�¹�µ�¹�±4·�»)·�¿�²*±8²)¶�·�¸�¹7º�À3»)±4· Â

ñ9ò ë(ó.ô�ë�õoü?ø Ç ·D¸�²*À3¾�µ RΦ = 0 »)±�¾ Φ∗QΦ = J Â
ý Â ä ÅDÇ&þÿÌMË�Æ�� û ÍDÆ

ñ9ò ë(ó.ô�ë�õ��*ø�� Ç ´
»)Ð*¹�³�¹�º�³�¹1µ-¹�±4·�».·�¿�²�± Â���Í ¸�¹�µ�¹@·¨²)¶¶=½�±�Òt·�¿�²�±�µ ẑ = col(U, V ) ∈ L2
nuv

(0,∞) ¿3µ+¿�±©·�¸�¹²*±�¹+·�²r²*±�¹sÒ@²*³�³�¹�µ�º?²�±�¾�¹�±?Ò@¹/ÏM¿�·�¸¢·�¸�¹_µ�¹@· L ²*¶�»)À�Àµ-²�À�½�·�¿�²�±�µM²*¶�·�¸�¹Qº�À3»)±4·D¹�Û4½�»)·�¿�²*± X = col(x, u, v) ∈
L2(0,∞) ½�±?¾�¹�³Jã�¹�³�²D¾�¿3µ-·�½�³�¼�»)±?Ò@¹�µ Â�Í ¸�¿�µ�Ò@²*³�³�¹�µ�º?²�±�á¾�¹�±�Ò�¹ X↔ẑ ¿3µ|Ò�»*½�µ�»)À8¼?²*·�¸�µ�¿�¾�¹1µ|»)±?¾�Ð�¿�Ñ�¹�µs·�¸�¹¿�´
»)Ð�¹8³�¹�º�³�¹1µ-¹�±4·�».·�¿�²�±

X = Φẑ, ẑ = J−1Φ∗QX,
²*³M¿�±+·�¸�¹
¹@Ú�º�À�¿�Ò�¿K·M¶=²�³�´

x(t) =

∫ t

0

[Kx
u(t, r)U(r) +Kx

v (t, r)V (r)] dr,

u(t) =U(t) +

∫ t

0

[Ku
u (t, r)U(r) +Ku

v (t, r)V (r)] dr,

v(t) = V (t) +

∫ t

0

[Kv
u(t, r)U(r) +Kv

v (t, r)V (r)] dr

»)±�¾G¼�»*Ò(æ+¿�±s·�¸�¹QÒ�»)½?µ�»*À?¶=²�³�´

U(t) = u(t) + (Kψ
u (t, t))∗x(t) +

∫ t

0

[((A∗Kψ
u )(s, t))∗x(s) + ((B∗Kψ

u )(s, t))∗u(s)

+((C∗Kψ
u )(s, t))∗v(s)] ds,

V (t) = v(t) − λ−1(Kψ
v (t, t))∗x(t) −

λ−1

∫ t

0

[((A∗Kψ
v )(s, t))∗x(s) + ((B∗Kψ

v )(s, t))∗u(s)

+((C∗Kψ
v )(s, t))∗v(s)] ds.

Î ½�³�·�¸�¹�³�´I²�³�¹ Ù ·�¸�¹MÒ@²4µ&·J¶=½�±�Ò@·�¿�²*±
Ò�»*±L¼9¹�³�¹�º�³�¹1µ-¹�±�·�¹�¾»*µ

F(X) =

∫ ∞

0

F (x(t), u(t), v(t)) dt = ‖ẑ‖2
J

= ‖U‖2
L2(0,∞) − λ‖V ‖2

L2(0,∞).
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x * u *
v +

Φ =
(
Φu Φv

)
=




Φxu Φxv
Φuu Φuv
Φvu Φvv


 .

,.-�/$/1032�465 %7%98�#1�
λ > Λ :&; !��<�=�7!��6
��
>����7%��?��	@�<��A�B�7���

Φ−1
vv

��C�
�%9�7% * 
D%FEG�&8������H�1�)���1�<��8�%7�)� :)I ���7�<�B>&�<� *
‖Φ−1

vv Φvu‖ ≤ λ−1/2 :
,.-�/$/10=JK46L ���

λ > Λ
�)���

D : L2
nv

(0,∞) →
L2
nu

(0,∞)
EG�1�)�M�)�7E�
������)�7N ���)8�%7�)� L 
�	�%7��!�
O�7P1#1��	�A

	�
���QSRT
O�7!U�7!�� L 
�	G%���!�
���PM���&��%9�7�)�K� ���H%�%3��!G�)� √
λ :

; !����V�7!��1#1��	�	�
���Q Φvv + ΦvuD

D%W
��
>����9�7
�E����1�)���

��!��X
��
>����7%��W#1��	�	�
���Q1
�% L 
�	�%���!�
O�7P'����� �<�)8G%���� :
Y$-[Z]\�^`_a^[bB\VcK46L ���

γ>0 : 5 #d�)	�	�
���Q Tz/v : (v, Z) →
z=(x, u)

(e���&#
L2
nv

(0,∞)×Z �7� L2
nz

(0,∞)

�%f�<���������

γ
Ag�<���K����������
���Q?
�(���!��<�7�h�<C

D%9�

ε > 0
%�8���!��7!��B�i(e�&�i���
N

v1, v2 ∈ L2
nv

(0,∞)
�)���j���
N

Z ∈ Z 
O(
(x1, u1) =

Tz/v(v1, Z)
�)���

(x2, u2) = Tz/v(v2, Z)
��!����

∫ ∞

0

F (x1(t) − x2(t), u1(t) − u2(t), 0) dt ≤

(γ2 + ε)‖v1 − v2‖2.

5 �k����#$
D%7%9
�E����l(e������E��&��m�%n�7�7�)����Q�Npoe�7��%�	@���q�7
�>&�<��N *�jQ&�<�����7����
�P<�H�r��
D%n�78���EG�)���<�s(e�<�H��E��&��m�t=
�% �<���������
γ
A

���&�K�������q�7
���Qu
O(v��!��3�����&%����M���
��	M#d�)	�	�
���Q
(v, Z) →

z = (x, u)

D%
γ
Aw���&�K�������q�7
���Q :

xzy�-�bB{7-�/}|)4�~a�@�W�K���
�K���O�
� � : L �<� γ > √
Λ :z; !��<�s��!��%�������("�)���

γ
Aw�����K�7�7�&�q��
���QrQ&�<�����7����
�P<�H����
�%9��8���E��������

(e�<�H��E��&��m
%T�<��
�����
D���H%vRT
O�7!3�7!���%����T�)(i#d�)	�	�
���QK%
u = (Φuv + ΦuuDZ) ◦ (Φvv + ΦvuDZ)−1(v) + uZ ,RT!������

DZ
(e���1�)�
N

Z ∈ Z 
D%����j�)�7E�
������)�7N��<��8�%7�)�
#d�)	�	�
���Q�(e�7��#

L2
nv

(0,∞)
�7�

L2
nu

(0,∞)
RT
O�7!��7!��

L 
�	�%7��!�
���PV�<����%9�7���&�
LD < γ � ��!��u(e8����q�7
��&� uZ =

S0(Z, 0)
���<	@�<�G��%'���V��!��1
���
O�7
����F�����G��
O�7
��&��%

Z
�)���

S0 
D%"��������E�
O�7�7����N�Q&�<�����7����
�P<�H����
D%9��8��7E��)�G����(e�<�H�
AE��&��m :
�@� �����a�&��� �����<����!�� �<������
���
����G%���( ; !��<�&����#��s��!��%�����8���
�������(X��!���	��D�)�K�3�H�K8��B�7
��&��8�������� �j��C����

γ
A

���&�K�������q�7
���Q�(e������E��&��m=
D%vRT��
��9�7�<�u��%

x= (Φxv + ΦxuD) ◦ (Φvv + ΦvuD)−1(v) + xZ ,

u= (Φuv + ΦuuD) ◦ (Φvv + ΦvuD)−1(v) + uZ .

� (@��!��v��	@�<���B�7���
Φxv+ΦxuD
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8��&8�%9��NX
��K>&�<���9A

�E����h��!��<���7!���Q��<���<���)��
�P����X��
D%n�78��7E��)���<��(e������E��&��mX�<�)�
E@�X����	����&���H�"E
Nd�7!�������#1
D%�%�
�E����W(e������E��&��m"%9�����B����Q�N
u = (Φuv+ΦuuD)◦(Φxv+ΦxuD)−1(x−xZ)+uZ .5 ���v��!��

γ
Ag�<���K����������
���Qu(e������E��&��m�%n�7�7�)���<Q&
��H%����)��EG�

��E��7�)
����H�"
�� ��!�
D%TRv��N :

� : �G  L�� ; �  W¡£¢i W¤¥�K¦X� ;v§]I � ¨ � ;T©£ª � ¤ §« § L�5 ¦'�

; !��1	������K��
�%X���H%��<��
�E@����EKNs��!��d��
������)�X%7�<���������7
�#1�<A>�����N

���Q1���<�D��N��H�"�H�&8G�B��
����
a(p, τ)y(t) = b(p, λ)u(t) + c(p, µ)v(t),RT!��<�7�
y

�%¬��!��­�&8���	�8�� * u 
D%j�7!��­�<���K���7��� * v 
�%��!�����
D%n�78���EG�)���<� :�; !����&	G���7�)������% a * b �)��� c

�)�7�
��
�#$�<Aa>B����N

���QU�)�G�®���<	@�<�G�®���®��!��S��
O¯z�<�7�<�K�7
��)��
����
��	@�<���B���&�

p = d/dt
�)���V���s�7!��d%9�<�W��(]���&�����<QK�B�7
�>&�

���<�D��N�%
τ = (τk)

n
k=1 * λ = (λk)

m
k=0

�)���
µ = (µk)

m
k=0RT
O�7!

m < n

�� ��!��'(e�&�����BRT
���Q�Rv��N +

a(p, τ)y(t) =
n∑

k=1

ak(t)y
(n−k)(t− τk) + y(n)(t),

b(p, λ)u(t) =

m∑

k=0

bk(t)u
(n−k)(t− λk),

c(p, µ)v(t) =
m∑

k=0

ck(t)v
(n−k)(t− µk).

; !��$�<�
��°=��
��<�K�7% ak * bk �)��� ck �����1��%7%98�#$�H������E@�EG�&8������H� :�; !���N=#d��N=!���>���±n8�#1	�% :� �������1P<�<�7�V
���
���
D�)�?�<������
���
����G%$�)�
t = 0

�)����RT
O�7!
��C����

γ0 > 0

��h
D%h���H�&8�
��7���$�7�����H%��<��
�EG���)���@%�����8���
����G%

�)(²�7!��X%9N�%9���<#³�7!��B�TE@�<������Q����
L2(0,∞)

�)���3%��)��
D%n(eN
��!��'���)�7Q����T
������K8�����
��nN

∫ ∞

0

(|y(t)|2 + |u(t)|2) dt < γ2
0

∫ ∞

0

|v(t)|2 dt.
� �S
D%�����%��l�7���K8�
��7���³���l�����´�)��� �<���K���7���������7%j��!��)�
	����B>

D���r�7!��¥�7�)�7Q��<�¬
������K8�����
��nN³(e���r�)�
Nµ(e8����q�7
��&�
v ∈ L2(0,∞) :
; !��X(e8����F%9�&��8��7
��&�u
�%6	��7��%��<�K���H��
��V%�������
����V¶$(e�&�?�7!��#$�&����Q������<���)�z�<�&%9� : ¢�������!��W����%��W�<����%�
����<�7���d
��"�7!�
D%%9�H�q��
�����
��"�<���SE@�u�7����8��<���������7!��u(e�������BRT
���Q�����Q&�)A
��
���!�# : ¢f
���%n� * ���������6��!��W����±n�&
��K�]�&	G���7�)���&�7% a∗(p, τ) *
b∗(p, λ) * c∗(p, µ)

��%

a∗(p, τ)ψ(t) =

n∑

k=0

(−1)k
dk

dtk
(an−k(t)ψ(t+ τn−k)),

b∗(p, λ)ψ(t) =

m∑

k=0

(−1)k
dk

dtk
(bm−k(t)ψ(t+ λm−k)),

c∗(p, µ)ψ(t) =

m∑

k=0

(−1)k
dk

dtk
(cm−k(t)ψ(t + µm−k)).

; !��=#d�)
��¬���&#1	�8��7�)��
��������]	��7��E�����#·���&�K�7�)
���%��s%9��A��8��7
��&�U�7�¬�7!��M����C
���nR��S%��<�7
��H% �)(��7!�����
O¯z�<�7�<�K�7
����
���K8��B�7
��&��% : ¢����d�)�
N���C���� r ≥ 0


��d
�%1�7���K8�
��7���M�7�
��������(e8����q�7
��&�

ψ ∈ L2(−∞,∞)
����� ��%�����8���
����3���

��!�����
D%9��8��7EG�H� 	������K�v�H�K8��B�7
��&�3�&�
t ∈ R +

a(p, τ)ỹ(t) = b(p, λ)ũ(t)+c(p, µ)ṽ(t)+r(p)δ(t−r)RT!��<�7�
r(p) = b(p, λ)

�&�
r(p) = c(p, µ) * �7!��B�v%��)��
D%n(eN���

t ∈ [r,∞)
�7!��X�7�<�D�B��
����G%





ỹ(t)
ũ(t)
ṽ(t)


 =




a∗(p, τ)
−b∗(p, λ)
γ−2c∗(p, µ)


ψ(t)

¸)¹Gºr»�¼�½V¾e¿�¹GÀq»�Á�Â�¹GÃ (ỹ(t), ũ(t), ṽ(t), ψ(t)) ¸)Ä7½VÅ�½<Ä7Â¾eÂ�Ä t < r Æ�Ç ½�¹�Â)»7½M»�¼�½jÃ�Â�È�¿�»�Á�Â�¹GÃ�ÉKÊ Ku(t, r) =
(Ky

u(t, r),Ku
u (t, r),Kv

u(t, r)) Á�¾ r(p) = b(p, λ) Ë¸)¹GºMÉKÊ Kv(t, r) = (Ky
v (t, r),K

u
v (t, r),Kv

v (t, r)) ÁO¾
r(p) = c(p, µ) Ë Ä�½HÃ9Ì@½�À�»�Á�Í�½�È�Ê ÆÎ ¼�½ ½�ÏK¿�¸)»�Á�Â�¹�Ã$¸)Ä7½"È�Á�¹�½�¸)Ä$Á�¹ ψ ÆiÐ »dÀ<¸�¹jÉG½�Ì�Ä7ÂBÍ�½Hº»�¼G¸B»6¸1Ã9Â&È�¿�»�Á�Â�¹ Á�¹ L2(r,∞) ÁDÃv¿�¹�ÁDÏ&¿�½XÁO¾i½�Ñ�ÁDÃn»�Ã Æ
ÒzÓ�Ô�ÕBÖ7Ô�×kØHÙ�Ú ÆiÛ Ã�Â�È�¿�»7Á�Â&¹�»�Â�»�¼�½ Ì�Ä7Â�É�È�½<ÜÝÃ9»7¸)»�½�º½�Ñ�ÁDÃn»�ÃsÁ�¾"¸)¹�º£Â&¹�È�Ê­Á�¾1»�¼�½SÃ9Â&È�¿�»7Á�Â&¹�Ã Ku(·, r) ¸)¹�º
Kv(·, r) ½�Ñ�ÁDÃn»'Á�¹ L2(r,∞) ¾eÂ�Ä'¸)¹
Ê γ ≥ γ0

¸)¹�ºs¾eÂ�Ä
¸)¹
Ê r ≥ 0 ÆÞ Æ1Û Ã7Ã�¿�Ü1½­¸lÃ�Â�È�¿�»7Á�Â&¹ß½�Ñ�ÁDÃn»�Ã�¸�¹�ºáà�Ñ γ = γ0 ÆÎ ¼�½�¹=»�¼�½'Ã�½�»vÂ)¾f¸)È�ÈzÃ�Â�È�¿�»7Á�Â&¹�Ã (y, u, v) Â)¾�»�¼�½W»7¸�Ä�â&½�»Á�¹�½�ÏK¿�¸�È�Á�»nÊ�Á�ÃWÁ�¹V»7¼�½�Â&¹�½�ãa»�Â�ãaÂ&¹�½�À<Â�Ä7Ä�½HÃ9Ì@Â�¹�º�½<¹�À<½X»�Â
»�¼�½"Ã9½<»�Â)¾v»�¼�½=Ì�¸)Á�Ä�Ã (U, V ) ∈ L2(0,∞) Ã�¿�À�¼�»�¼G¸B»
‖U‖ < γ‖V ‖ Æ Î ¼�½'Ä7½<ÈD¸B»�Á�Â�¹ ÁDÃvâ�Á�Í�½<¹ É
Ê

y(t) =

∫ t

0

[Ky
u(t, r)U(r) +Ky

v (t, r)V (r)] dr,

u(t) =U(t) +

∫ t

0

[Ku
u (t, r)U(r) +Ku

v (t, r)V (r)] dr,

v(t) = V (t) +

∫ t

0

[Kv
u(t, r)U(r) +Kv

v (t, r)V (r)] dr.

ä Æ'Ç ½<¹�Â�»�½�»�¼�½�Á�¹&»7½<â&Ä7¸�È�Â�Ì@½<Ä�¸B»7Â�Ä�ÃsåTÁ�»�¼l»�¼�½Sæ�½�Ä9ã¹�½�È�Ã (Ku
u ,K

v
u,K

u
v ,K

v
v )
É
Ê (Kuu,Kvu,Kuv ,Kvv) Ë Ä7½�ãÃ�ÌG½HÀq»�Á�Í�½�È�Ê Æ Î ¼�½�¹1¸�È�È�È�Á�¹�½�¸�Ä]À�Â&¹K»�Ä7Â�È�È�½�Ä7Ã.»�¼G¸B»�Ì�Ä7ÂBÍ
Á�º�½»�¼�½T»7¸�Ä�â&½�»]Á�¹�½�ÏK¿�¸�È�Á�»nÊ�¾eÂ&Äh¸�¹KÊ�¹�Â�¹�Å<½<Ä7Â'¾e¿�¹�À�»�Á�Â�¹ v ∈

L2(0,∞) À�¸)¹�ÉG½XÌG¸)Ä�¸)Ü1½�»7½<Ä7Á�Å�½�º=É
Êd»7¼�½X½�ÏK¿�¸)»�Á�Â�¹
Kyvu(t) = Kuvy(t) + (KyuDu(t)−Dy(t)−KuuDy(t))åT¼�½�Ä�½ D ÁDÃV¸�¹�¸)Ä7É�ÁO»7Ä7¸�Ä�ÊUÈ�Á�¹�½�¸�ÄVÀ<¸�¿�Ã7¸)È�Â&ÌG½�Ä7¸)»�Â�Ä
¾eÄ7Â�Ü L2(0,∞) »�Â L2(0,∞) Ã9¿�À�¼S»7¼�¸B» ‖D‖ < γ Æ

Î ¼�½?¸&Ã�Ã�½<Ä�»�Á�Â�¹�Â�¾ Î ¼�½<Â�Ä7½<Üµç?¾eÂ&È�È�ÂBå?Ãf¾eÄ�Â&Ü Î ¼�½�Â�Ä7½<Üè Æ Î ¼�½6Üd¸�Á�¹=È�Á�¹�½�¸�Ä�½�ÏK¿�¸)»�Á�Â�¹dÁ�¹d»�¼�½6¾e¿�¹�À�»�Á�Â�¹ ψ À<¸)¹É@½$Ã�Â�È�Í�½Hº�¹K¿�Ü$½�Ä�ÁDÀ<¸�È�È�Ê Ë ¾eÂ�ÄWÁ�¹�Ãn»�¸)¹�À<½ Ë É
Ê3»7¼�½1Ã9å�½<½�ÌÜ1½�»7¼�Â�º Æ

ç Æ?é
ê�ë�ìhÐnÛ�í�ì�Û�é�ë
ì Â�¹GÃ9ÁDº�½<Ä�¸uÃ9Á�Ü1Ì�È�½"Ü$Â�º�½�È]Â�¾�»7¼�½"À�¸)Ä�¸�¿�»�Â&Ì�Á�È�Â)» Æ.ÛÀ<¸�ÄsÁDÃsÄ7Á�º�Á�¹�â�Â&¹£»�¼�½¬Ä�ÂK¸�º£¸B»�¸UÀ�Â�¹GÃn»�¸)¹K»VÃ9Ì@½<½Hº ÆÎ ¼�½WÄ�ÂK¸�ºdÃ�¿�Ä�¾[¸�À�½�Á�Ã�¹�Â�»hî@¸B» Ë »7¼�½�½Hº�â�½HÃ]Â�¾²»�¼�½�Ä7Â&¸&º¸)Ä7½�È�ÂBåh½�Ä?»7¼�¸)¹V»�¼�½�Ü$ÁDº�º�È�½$È�Á�¹�½�¾eÂ�Ä�»�¼�½�Ä7¸�Á�¹såv¸B»7½<Ä
»�ÂuÈ�½�¸�Í&½�»7¼�½dÄ7Â&¸�º Æ Î ¼�Á�Ã�Ã9È�Â�Ì@½1Â)¾�»�¼�½dÄ7Â&¸&º�Ã�¿�Ä�¾[¸�À�½â�½�¹�½<Ä�¸B»7½�Ãf¸�¾eÂ�Ä�À�½h»�¼�¸)»f»7Ä�Á�½�Ã.»7Â�»7¿�Ä7¹$¸'À<¸�ÄiÁO¾@ÁO»FÁDÃi¹�Â)»
È�Â
À�¸B»7½�º�¸)»�»�¼�½hÜ1ÁDº�º�È�½hÈ�Á�¹�½ Æ Î ¼�½�¸�¿�»�Â&Ì�Á�È�Â�»�Ü1½�¸�Ã�¿�Ä7½�Ã»�¼�½�º�½<Í
ÁD¸B»�Á�Â�¹�¸)¹Gº=»7Ä�Á�½�Ã�»7Â=À�Â�Ü1Ì@½<¹�Ã7¸B»7½'ÁO» ÆÎ ¼�½�Ä7Â&¸&º Ì�Ä�Â�à�È�½XÁ�Ã?¸�Ì�Ì�Ä7Â�Ñ�Á�Üd¸B»7½�º É
Ê=»7¼�½�¾e¿�¹GÀq»�Á�Â�¹
−ay2 åT¼�½<Ä7½ y ÁDÃ²»7¼�½hº�Á�Ã9»7¸�¹�À�½hÉG½<»nåh½�½<¹'»�¼�½�À�¸)Ä�Üd¸&Ã�Ã

À�½<¹K»7Ä�½?¸�¹�º$»�¼�½6Ä�ÂK¸�º$Ü1Á�º�º�È�½?È�Á�¹�½ Æ Î ¼�½6À�Â
½<ïdÀ<Á�½�¹K»]Â)¾À�Â�¹GÀ<¸�Í
ÁO»nÊ a Á�Ã�¹�Â�»$À�Â&¹�Ãn»�¸)¹K»$¸�È�Â&¹�âu»7¼�½3Ä7Â&¸&º Æ Î ¼�½Ã9Ê�Ã9»�½<ÜðÁ�Ã?º�½�Ã7À�Ä7Á�É@½�º3É
Êd»�¼�½X½HÏK¿�¸B»7Á�Â&¹
ÿ(t) = a(t)y(t) + b0u(t) + w(t)

åT¼�½<Ä7½ u Á�ÃW»7¼�½=À�Â&¹K»�Ä7Â�È�¸)¹Gº w ÁDÃW»�¼�½3º�Á�Ã9»�¿�Ä�É�¸�¹�À�½ Æñ Â�ÄTÃ�Á�Ü1Ì�È�ÁDÀ�Á�»nÊ=¸�Ã7Ã9¿�Ü1½�»�¼�¸)» a(t) = a0
¾eÂ�Ä t ∈ [0, T ]¸)¹�º a(t) = a1

¾eÂ&Ä t > T Æ Î ¼�½¬º�ÁDÃn»7¿�Ä�ÉG¸)¹�À<½ wÄ�½<î�½�À�»7ÃiÃ9Üd¸�È�È
¹�Â&¹�îG¸B»7¹�½�Ã7ÃfÂ�ÄFÃ�Ü1¸�È�È
Â&É�Ãn»�¸�À<È�½HÃ�Â&¹�»7¼�½
Ä�ÂK¸�º Æ&é Á�¹�À<½�¸�¹KÊ1Ã�Ü1¸�È�ÈzÃ9»�Â�¹�½?Â�Äh¹�Â�¹�î@¸B»�¹�½�Ã7Ã]¸�À�»7Ã]Â�¹»�¼�½T¾eÄ7Â�¹K»�åT¼�½�½<ÈDÃFÂ)¾ò¸XÀ<¸�Ä�¸)¹�º�»7¼�½<¹=¸&Àq»7Ã�Â�¹$»�¼�½TÄ7½�¸�Ä
åT¼�½<½�È�Ã�»7¼�½�º�ÁDÃn»7¿�Ä�ÉG¸)¹�À<½'À<Â�¹K»7¸�Á�¹GÃT¸�Ì�¿�Ä�½Xº�½�È�¸�Ê

w(t) = c0v(t) + c1v(t− τ)
åT¼�½<Ä7½ τ = d/V Á�Ã�»7¼�½W»�Á�Ü1½�¾eÂ&ÄvÄ�ÁDº�Á�¹�â�»7¼�½Xº�Á�Ã9»7¸�¹�À�½
d É@½�»nå�½<½<¹�»7¼�½d¾eÄ7Â�¹K»�¸)¹�º�»7¼�½=Ä7½�¸)ÄXåT¼�½<½<ÈDÃ Æ�ó ½�¹�À�½ Ëåh½�¼�¸�Í&½�¸­»�Á�Ü1½�ãgÍ�¸�Ä�Ê
Á�¹�â£À�Â�¹K»7Ä�Â&È$Ã�Ê�Ãn»7½<ÜôåTÁ�»�¼á¸
Ì�¿�Ä7½1º�½<ÈD¸�ÊuÁ�¹�»�¼�½1º�Á�Ã9»�¿�Ä7É�¸�¹�À�½ Æ²õ ¹�º�½�ÄXÅ<½�Ä�Â Á�¹�ÁO»7Á�¸�ÈÀ�Â�¹Gº�ÁO»7Á�Â&¹�Ã�ÁO»MÁDÃ�Ä7½�ÏK¿�Á�Ä7½�º£»7Â¥º�½HÃ9Á�â�¹³¸­À<Â�¹K»�Ä7Â�È�È�½<Ä
»�¼�¸)» Ì�Ä7ÂBÍ
Á�º�½�Ãd¾eÂ&Ä ¸�È�ÈW¹�Â&¹�Å<½�Ä�Â v ∈ L2(0,∞) »�¼�½Á�¹�½HÏK¿�¸)È�ÁO»nÊ

‖y‖2
L2(0,∞) + ‖u‖2

L2(0,∞) < γ2‖v‖2
L2(0,∞).

Ð ¹�¸&À<À�Â&Ä7º�¸)¹�À<½�»�Â Î ¼�½�Â�Ä7½<ÜdÃ ä ¸)¹�º è »�¼�½dÌ�Ä7Â�É�È�½�ÜÁ�ÃF½HÏK¿�Á�ÍB¸�È�½�¹&»F»7Â�Ã9Â&È�¿�»�Á�Â�¹1Á�¹ L2(0,∞) Â)¾z»�¼�½?Ã�Ê�Ãn»7½<Ü

ψ̈(t) = a(t)ψ(t) + y(t),

u(t) =−b0ψ(t),

v(t) = γ−2(c0ψ(t) + c1ψ(t+ τ))

»�Â�â&½�»7¼�½<Ä.åTÁO»7¼�»�¼�½]Ì�ÈD¸)¹K».½HÏK¿�¸B»7Á�Â&¹XÂ�¹X»7¼�½hÄ�¸�Ê [r,∞) Æñ Â�Ä�À<¸�È�À<¿�È�¸)»�Á�Â�¹=Â�¾ò»�¼�½6¾e¿�¹�À�»�Á�Â�¹ Ku(t, r) »7¼�½WÁ�¹�Á�»�ÁD¸)ÈÀ�Â�¹Gº�ÁO»7Á�Â&¹�Ã²¸�Ä�½ y(r) = 0 Ë ẏ(r) = b0
¸)¹GºX¸)È�È)ÍB¸)Ä7Á�¸�É�È�½HÃ

¸)Ä7½XÅ<½<Ä7Â$¾eÂ�Ä t < r Æ ñ Â�Ä6À�¸)ÈDÀ�¿�ÈD¸B»7Á�Â&¹�Â)¾f»�¼�½X¾e¿�¹�Àq»7Á�Â&¹
Kv(t, r) »7¼�½uÈD¸�Ã9»1Á�¹�Á�»�ÁD¸)È6À<Â�¹�º�ÁO»7Á�Â&¹�ÁDÃdÄ7½<Ì�ÈD¸�À<½�ºjÉ
Ê
ẏ(r) = c0

¸)¹�º�»7¼�½=¾e¿�¹GÀq»�Á�Â�¹ ẏ ¼G¸�Ã�¸dön¿�Ü1ÌjÂ)¾T»7¼�½¸)Ü1Ì�È�ÁO»7¿�º�½ c1 ¸)»�»7¼�½'»�Á�Ü1½ r + τ Æñ Á�Ä�Ãn»�À�Â&¹�Ã9ÁDº�½�Ä�»7¼�½rº�½<ÈD¸�Ê¥¾eÄ�½�½SÃ�Ì@½�À�ÁD¸)ÈdÀ�¸�Ã�½ τ =
0 ¸)¹�º�¸&Ã�Ã�¿�Ü1½j¸�Ã�Â�È�¿�»�Á�Â�¹�½<Ñ�Á�Ã9»7Ã Æ Î ¼�½�Ã9Ê�Ã9»�½<Ü÷ÁDÃ
»�Á�Ü$½<ãaÁ�¹
ÍB¸)Ä7Á�¸�¹&»�Â&¹ø»�¼�½®Á�¹K»�½�Ä�ÍB¸)È [T,∞) ¸�¹�ºø»�¼�½À�¼�¸)Ä�¸�À�»�½<Ä7ÁDÃn»7Á�À]ÌGÂ&È�Ê
¹�Â&Ü$ÁD¸)È�¸&º�Ü1ÁO»�Ãf»�¼�½�¾[¸&Àq»�Â&Ä�Á�Å�¸)»�Á�Â�¹
z4 − 2a1z

2 + a2
1 + b20 − γ−2(c0 + c1)

2 = f(z)f(−z)
åT¼�½<Ä7½ f(z) = z2 + g1z + h1

Á�Ã=¸ ó ¿�Ä�åTÁ�»�Å�Ì@Â�È�ÊKã¹�Â�Ü1ÁD¸)È Æ]é Á�¹GÀ�½ ψ ∈ L2(T,∞) Á�»=Ü�¿GÃn»=Ã7¸B»�ÁDÃ9¾eÊj»�¼�½½�ÏK¿�¸B»7Á�Â&¹
f(p)ψ = ψ̈ + g1ψ̇ + h1ψ = 0, t > T,

»�¼�¸)»3¼�¸&Ã Þ º�½�â�Ä7½<½�Ã=Â)¾'¾eÄ�½�½�º�Â&Ü Æ Î ¼�½�Ã9½HÀ�Â�¹GºS¸�¹�º»�¼�½6»�¼�Á�Ä7º"º�½<Ä7Á�ÍB¸)»�Á�Í�½�Ã�Â)¾ ψ ¼�¸�Í&½iön¿�Ü1Ì�Ãv¸B»�»7¼�½6Ì@Â�Á�¹K»
t = T Ë

ψ̈(T + 0) − ψ̈(T − 0) = (∆a)ψ(T ),

ψ(3)(T + 0) − ψ(3)(T − 0) = (∆a)ψ̇(T ).

Ð »?Ä�½�Ü1¸�Á�¹GÃ�»�ÂdÃ9Â&È�Í&½6»7¼�½X½�ÏK¿�¸)»�Á�Â�¹
ψ(4) − 2a0ψ̈ + (a2

0 + b20 − γ−2(c0 + c1)
2)ψ = 0

Â�¹ (t, T ) ¿�¹�º�½<ÄSùlÜ1Á�Ñ�½�ºúÉ@Â�¿�¹Gº�¸)Ä7Ê³À<Â�¹�º�ÁO»7Á�Â&¹�Ã Æ
Ç ½�¹�Â)»7½'»�¼�½�Ã�Â�È�¿�»�Á�Â�¹ É
Ê (y0(t, r), ψ0(t, r)) Æ



ûhü�ýGþ9ÿ��������	�
���
�<ý�������������þ	�
τ > 0

��ý
���&þ�þ	�����
r +

τ < T ��� �
�<ý��	����� ��ý
�!�7ÿ�ü&ý
ψ
ü�ý��	�������#"

[T,∞)þ��$��ÿDþ&%
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